King Fahd University of Petroleum and Minerals
Department of Mathematics and Statistics

Math 102 - Term 122 — Exam |l
Duration: 100 minutes

Name: k@. >/ ID Number:

Section NMumber; Serfal Number:

Class Time: Instructor's Name:

Instructions:

1. Calculators and Mobiles are not allowed,

2. Write neatly and eligibly. You may lose points for messy work,
3. Show all your work. No points for answers without justification.
4. Make sure that you have 6 pages of problems.

Page Points | Maximum

Number Points

i 20

2 16

3 : 17

4 16

5 14

6 17
Total 100
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(Q1) {8-points) Write the form of the partisl fraction decomposition of
3z
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(Q2) (6-points) If sinh & == -“—;, then find the value of sech .
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(Q3) (6-points) Find the ares of the region bounded by the curve y = % sec? & and the
Hnes & = 0, 2 = T and y=0.
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(Q4) (9-points) IMind the area of the surface generated by revolving the curve
@ = +/4y — 2,1 <y < 2 about the y-axis.
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(QB) (7-points) If y = In(coshz) — %tanhz @, Ghen find % and write your answer in
terms of tenhe.
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(Q6) (5-points) Evaluate each of the following integrals
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b W= sinx = du=asx dx (2 phe)
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(D) (10-points) / csc®(22) cot®(2) d

T = j c:sc:é(ax) C&:’-E(W) dx

z ] cﬁﬂ&&u) A Gax) - cse(ax) Co{(:gx) d x (*?&5)

2 | asd () [f;_gc?(m q] csa(an) Gl dx (1 pt)

¥
AT cse{2x) = ol = -~ 2 cseCax) Gl(ax) dx  (2pts)

S I=-x S @ () du = “‘é“f(m"ﬁ Widu  (2eks)

e Wy Wi o= esllo) et csclax) ¢
(2 91-.5) (4 i’U



Math 102-1-122 ( Exam II) Page 5 of 6
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(F) (12-points) / @mi”f—m ds
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(Q7) (5-points) Evaluate / sin(3%) cos(2z) dz
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